Area A1

8302m (1 50282m2) traversed @ 2.44 (km/hr)
4000 I T I T

3950

3900

3850

o
o0
]
L]

w
=
n
&

UTM Northing {(m)
Offset by -7670 km

3700 é ............................ 5 ................ é = é ...... SO é ............................ _

3650_ ............................ ............................ ORI .................

3600_ ............................ ........................... ................. ........................... ............................ |

3550 i I i i
1300 1400 1500 1600 1700 1800 1900

UTM Easting (m)
Offset by -400 km



4000

3950
340
3900
. 3850
EX 335
R 3800
£Q
t 1
O
Z 2 3750
= 32 330
58
3700
3650 325
3600
3550 I i i i i 320
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



4000

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

3550 I i i i
1300 1400 1500 1600 1700

UTM Easting (m)
Offset by -400 km




4000

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

35850

e ........................... .......................... e .......................... .......................... 100

i i i
1300 1400 1500 1600

UTM Easting (m)
Offset by -400 km



4000 e ........................... R s .......................... .......................... 20
3950 |
3900 |
3850
8
o
o~ L
2 3800
t 1
O
Z 2 37501
= 3
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



4000 e ........................... R s .......................... .......................... 100
3950
3900
3850
ES
o
o~ N
215 3800
t 1
O
=32 3750
= 3
58

3650

3600 -

35850

i I i i i
1300 1400 1500 1600 1700 1800
UTM Easting (m)
Offset by -400 km



4000_ ............................ .............................. s .............................. .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1l: cU_PPM (ppm)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km



4000

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
)
-..\l
n
o

Offset by -7670 km

3700

3650

3600

Area A1l: cU_PPM (ppm)

35850
1300

i
1500

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



Area A1: U_cps (cps) (cps)

4000 R s 57 ........................ o o §
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
O
Z 2 3750
= 32
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: U_cps (cps) (cps)

4000 R s 57 ........................ o o §
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
o >
Z 2 3750
= 32
58
3700

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: U_cps (cps) (cps)

4000 R s : ........................ o o § 10
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
O
Z 2 3750
= 32
58

3650

3600 -

35850

i I i i i
1300 1400 1500 1600 1700 1800
UTM Easting (m)
Offset by -400 km



Area A1: U_cps (cps) (cps)

4000 R s : ........................ o o § 50
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
O
Z 2 3750
= 32
58

3650

3600 -

35850

i I i i i
1300 1400 1500 1600 1700 1800
UTM Easting (m)
Offset by -400 km



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: U_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: U_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



Area A1 cK_PCT (%) (%)

4000

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

3550 I i i i
1300 1400 1500 1600 1700

UTM Easting (m)
Offset by -400 km




Area A1 cK_PCT (%) (%)

4000

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

3550 i i i
1300 1500 1600 1700

UTM Easting (m)
Offset by -400 km




4000 -

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1 cK_PCT (%) (%)

4000 -

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1 cK_PCT (%)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1 cK_PCT (%)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km



Area A1 K_cps (cps)

4000_ ........................ ........................... R s .......................... ..........................
3950
3900
3850

&

il o

[y ) i

2 3800

t 1

O

Z 2 3750

=¥

3650

3600 5

3550 | i i i i i 0
1300 1400 1500 1600 1700 1800 1900

UTM Easting (m)
Offset by -400 km



Area A1 K_cps (cps) (cps)

A000 oo s e ey s § 100
3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



4000

3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

35850

1300

Area A1 K_cps (cps) (cps)

i I i i i
1400 1500 1600 1700 1800
UTM Easting (m)

Offset by -400 km



Area A1 K_cps (cps) (cps)

4000 R s : ........................ o o § 100
3950 - 90
3900 - 80
70

3850 -

il o

2 3800+

= M

55 S0

=32 3750

= & 40

o0

3650

3600 -

35850
1300

i I i i i
1400 1500 1600 1700 1800
UTM Easting (m)

Offset by -400 km



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1 K_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1 K_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km



Area A1 cTh_PPM (ppm) (ppm)

A000 oo s e e SR s § 20
3950

3900

UTM Northing {(m)
Offset by -7670 km

3650

3600

3550 I i i i
1300 1400 1500 1600 1700

UTM Easting (m)
Offset by -400 km




Area A1 cTh_PPM (ppm)

4000 R s : ........................ o o §
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
O
Z 2 3750
= 32
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1 cTh_PPM (ppm) (ppm)

4000 R s : ........................ o o § 20
3950 |
3900
3850 |
L
it =
o L
'E S 3800
t 1
O
Z L 3750
Z 9
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1 cTh_PPM (ppm) (ppm)

4000 R s : ........................ o o § 40
3950 |
3900
3850 |
L
it =
o L
'E S 3800
t 1
O
Z L 3750
Z 9
58

3650

3600 -

35850

i I i i i
1300 1400 1500 1600 1700 1800
UTM Easting (m)
Offset by -400 km



Area A1 cTh_PPM (ppm)

AOO0 — - ovoereeereens e e s e T
3950
3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

3550 i I i i i
1300 1400 1500 1600 1700 1800 1900

UTM Easting (m)
Offset by -400 km



Area A1 cTh_PPM (ppm)

AOO0 — - ovoereeereens e e s e T
3950
3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

3550 i I i i i
1300 1400 1500 1600 1700 1800 1900

UTM Easting (m)
Offset by -400 km



Area A1: Th_cps (cps) (cps)

4000 R s ?T ....................... o o
3950 |
3900
3850 |
L
it =
o L
'E S 3800
t 1
O
Z 5 3750
= 32
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: Th_cps (cps) (cps)

4000 R s ?T ....................... o o
3950 |
3900
3850 |
L
it =
o L
'E S 3800
t 1
o >
Z L 3750
Z 9
58
3700

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: Th_cps (cps) (cps)

4000 R s ?T ....................... o o § 5
3950 |
3900
3850 |
L
it =
o L
'E S 3800
t 1
O
Z L 3750
Z 9
58

3650

3600 -

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: Th_cps (cps) (cps)

4000 R s : U TRO o o § 10
3950 |
3900
3850
£k
o
o L
'E S 3800
t 1
O
Z 2 3750
= 32
58

3650

3600 -

35850

i I i i i
1300 1400 1500 1600 1700 1800
UTM Easting (m)
Offset by -400 km



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: Th_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: Th_cps (cps)

35850
1300

i
1500

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



Area A1: TC_cps (cps)

4000 e s e ?f ...................... o e § 250
3950
3900 200
. 3850
§§ 150
2 3800
t 1
O =
gg 3750
» 100
58

3650 50

3600

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: TC_cps (cps) (cps)

4000 e s e é.f ...................... o e § 500
3950 450
3900 400
350
. 3850
Ez 300
[y ) i
25 3800
= M
= 250
gg 3750
@ 200
55
3700
150
3650 100
3600 50
3550 I I i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: TC_cps (cps) (cps)

4000 e s e ?f ...................... o e § 250
3950
3900 200
. 3850
Ez 150
§‘§ 3800
t 1
O =
gg 3750
) 100
55

3650 50

3600

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km



Area A1: TC_cps (cps) (cps)

4000 e s e ?f ...................... o e § 500
3950 450
3900 400
350
. 3850
Ez 300
215 3800
'_E P
= 250
gg 3750
» 200
58

3650

3600

3550 I i i i i
1300 1400 1500 1600 1700 1800

UTM Easting (m)
Offset by -400 km




4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: TC_cps (cps)

35850
1300

i
1600

UTM Easting (m)

Offset by -400 km

i
1700



4000_ ............................ .............................. s s .............................

3950

3900

3850

[ O8]
0
]
L]

UTM Northing {(m)
[OV)
-..\l
o
o

Offset by -7670 km

3700

3650

3600

Area A1: TC_cps (cps)

35850
1300

i
1500

i
1600

UTM Easting (m)

Offset by -400 km



Area A2

4848m (6380m2) traversed @ 2.94 (km/hr)
4460 I I I I

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320 i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



Area A2: Galt_m (m) {m)

4460_ ........................ ........................... e ..........................
| | ' : : | 333.5
4440 333
3325
4420
- 332
& - 13315
E < 4400
28
£R - {331
S3
= 2
5§ 4380 - 13305
330
4360
329.5
4340 329
328.5
4320 i I i. . i | i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



4460_ ........................ ........................... e ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

Area A2: cU_PPM (ppm)

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

18

16

14

12

10




Area A2: cU_PPM (ppm) (ppm)
1

QABO oo o o R e 00
90
4440
80
4420 L 170
- —60
- &
E 2 4400
28
= M
= 1 _ = 50
Sa
=2
|5 % 4380
- {40
4360 30
20
4340
10
4320 i I i. . i | |
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



Area A2: cU_PPM (ppm)

4460_ ........................ ........................... e ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

|
1520

i i i
1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

Area A2: cU_PPM (ppm)
4460_ ........................ ........................... e ..........................

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

90

80

70

60

30

40

30

20

10



Area A2: cU_PPM (ppm)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: cU_PPM (ppm)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
P
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: U_cps (cps)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

|
1520

i i i
1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km




Area A2: U_cps (cps)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

45

40

15

10



Area A2: U_cps (cps)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

(cps)

10



Area A2: U_cps (cps)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

i
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

(cps)
30

45

40

35

30

25

20

15

10



Area A2: U_cps (cps)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: U_cps (cps)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
P
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



UTM Northing {(m)
Offset by -7670 km

Area A2: cK_PCT (%)

4460_ ........................ ........................... e : ..........................

4440

4420

I
I
o
o

.
)
o
o

4360

4340

i i | i i i i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

4320




Area A2: cK_PCT (%) (%)

4460_ ........................ ........................... e : ..........................

4440

4420

Eg% 4400 -
(=) ] .
£2
Sz
Z ¢ 4380 .
58

4360

4340

| | L | | |
1480 1500 1520 1540 1560 1580 1600
UTM Easting (m)
Offset by -400 km

4320



Area A2: cK_PCT (%)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

(%)

3.5

25

1.5

0.5



Area A2: cK_PCT (%) (%)

4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

i I | i | i
1480 1500 1520 1540 1560 1580 1600
UTM Easting (m)

Offset by -400 km

4320




4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

Area A2: cK_PCT (%)

4320
1480

1520

1540

UTM Easting (m)
Offset by -400 km



Area A2: cK_PCT (%)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: K_cps (cps)

4460 _ .......................... pr e .......................... R

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

i
1520

i i i
1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area A2: K_cps (cps) (cps)

4460 R e § NSRRI e e § 100
90
4440
a0
4420 L 70
- 60
= &
é“‘ 4400
28
=M
= 1 _ _50
Sa
= 2
|5 % 4380
= =40
4360 30
20
4340
10
4320 i I i. . i | i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



4460 _ .......................... pr e .......................... R

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

Area A2: K_cps (cps)

4320 i i
1480 1500 1520

1540

UTM Easting (m)
Offset by -400 km

(cps)
20

18

16

14

12

10



Area A2: K_cps (cps)

4460 _ .......................... pr e .......................... R

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1500

i
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

(cps)

100

90

80

70

60

30

40

30

20

10



Area A2: K_cps (cps)

4460__ ............................ AR é .............................. e ; ............................. s :

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4340 ”mmmmmm”mmmimmm”mmmmmmmiLWH-.

4320
1480

i
1500

i
1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: K_cps (cps)

4460 Y AR .............................. e ............................. s

4440

4420

UTM Northing {(m)
I
P
o
o

Offset by -7670 km

I
)
o
o

4320
1480

i
1500

i
1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



UTM Northing {(m)
Offset by -7670 km

Area A2: cTh_PPM (ppm)

4460_ ........................ ........................... e : ..........................

4440

4420

I
I
o
o

.
)
o
o

4360

4340

i i | i i i i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

4320




4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

Area A2: cTh_PPM (ppm)

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

35

30

20

15

10



4460_ ........................ ........................... e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

Area A2: cTh_PPM (ppm)

4320
1480

i
1500

|
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

18

16

14

12

10



Area A2: cTh_PPM (ppm) (ppm)
40

AABO — o o e § _ ..........................
- 135
4440
-~ =30
4420
= =25
= &
é“‘ 4400
28
=M
z ! 20
Sa
E 3 4380
58
15
4360
10
4340
5
4320 I I I i | i 0
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

Area A2: cTh_PPM (ppm)

4320
1480

1520 1540
UTM Easting (m)
Offset by -400 km



Area A2: cTh_PPM (ppm)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520 1540
UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



UTM Northing {(m)
Offset by -7670 km

Area A2: Th_cps (cps) (cps)
- 5

4460_ ........................ ........................... e : ..........................

4440

4420

I
I
o
o

.
)
o
o

4360

4340

i i - i i i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

4320




Area A2: Th_cps (cps) (cps)
10

QABO oo o o I
9
4440
8
4420 L -
- 6
= &
é‘x 4400
28
= M
! - a5
Sa
=2
& 4380
20
= 4
4360 3
2
4340
1
4320 i I i. . i | |
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



Area A2: Th_cps (cps)

4460_ ........................ S e : ..........................

4440

4420

UTM Northing {(m)
P
P
L]
L]

Offset by -7670 km

.
)
o
o

4360

4340

4320
1480

i
1520

1540

UTM Easting (m)
Offset by -400 km

i
1560

|
1580

i
1600

(cps)
5

4.5

3.5

25

1.5

0.5



Area A2: Th_cps (cps) (cps)

4460_ ........................ ........................... e : ..........................

4440

4420

- &
E 2 4400
o
2
t 1
5z
E 2 4380
58
4360
4340
4320 i I i i | i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

Area A2: Th_cps (cps)

4320
1480

1540

UTM Easting (m)
Offset by -400 km



Area A2: Th_cps (cps)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area A2: TC_cps (cps) (cps)

AABO — o o e § _ .......................... 250
4440
200
4420
_E 150
é“‘ 4400
o
£¢
t 1
Sa
= 2
|5 % 4380
100
4360
50
4340
4320 i I [ i | i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



Area A2: TC_cps (cps) (cps)

AABO — o o e § _ .......................... 500
450
4440
400
4420 350
_E - =300
é“‘ 4400
28
=M
£ - =250
Sa
= 2
|5 % 4380
= =200
4360 150
100
4340
50
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



Area A2: TC_cps (cps) (cps)

4460_ ........................ ........................... e : .......................... 250

4440
- 1200

4420

& 150
E X 4400
o
£©
t 1
S&
=2
5 £ 4380
100
4360
50

4340

i i | i i i i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km

4320



Area A2: TC_cps (cps) (cps)

AABO — o o e § _ .......................... 500
- —450
4440
- =400
4420 L 350
_E = =300
é“‘ 4400
28
=M
= ! 250
Sa
= 2
|5 % 4380
200
4360 150
100
4340
50
4320 i I i i | i
1480 1500 1520 1540 1560 1580 1600

UTM Easting (m)
Offset by -400 km



4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
I
o
o

Offset by -7670 km

I
)
o
o

4360

4340

Area A2: TC_cps (cps)

4320
1480

1540

UTM Easting (m)
Offset by -400 km



Area A2: TC_cps (cps)

4460_ ........................... e ............................. .............................. e f

4440

4420

UTM Northing {(m)
I
P
o
o

Offset by -7670 km

I
)
o
o

4360

4340

4320
1480

i
1500

1520

1540

UTM Easting (m)
Offset by -400 km

1560

1580

|
1600



Area BM8
2637m (4087m2) traversed @ 1.76 (km/hr)

1960 ! ! ! ;
1950 ; -
?’000”’ 0”0“,,5” : e AT
;”’ + ; + ’ ’:””f”’“‘”"’ e e e e, M
1940 T
1930
- &
£ x
= 1920
£Q
t 1
Sa
= 2 1910
55
1900 : |
1890
1880
1870 I i i i I I i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: Galt_m (m) {m)

1960_ ................. ................... .................... ................... .................... R R
5 r : : E 5 : : 332
1950
330
1940
1930 - 328
£k
5o 1920
£ L 1326
t 1
Sa
= § 1910
58
L 1324
1900
1890 322
1880
320
i

1870 i i i I i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cU_PPM (ppm)

1960_ ................. s .................... ................... .................... R R

1950

1940

1930

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1820

1880k .................... ................... ................... ............ .............

1870
2050

i
2060

i
2070

I l
2080 2090 2100

UTM Easting (m)
Offset by -400 km

i
2110

i
2120

|
2130

18

16

14

12

10




Area BM8: cU_PPM (ppm)

1960_ ................. s .................... ................... .................... R R 100

1950

1940

1930

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1820

1880 s .................... ................... ................... ................... ................ : .............

90

80

1870
2050

i
2060

i
2070

I l
2080 2090 2100

UTM Easting (m)
Offset by -400 km

i
2110

i
2120

|
2130



Area BM8: cU_PPM (ppm) {(ppm)
1960_ ................. s ................... .................... R R 20

1950
1940 __________

1930 é - .:.. THE ._._ "' T _'_' .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é .mt'“- | :. 1 é

1880 s é .................... 3m”m”mm”é ................... é ................... ? ................... ; .................... ; .................... é

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



1960 - oovneee AR e e T . e i 100
1950
1940

1930

UTM Northing {(m)
Offset by -7670 km

1900

1820

1870

—_—
[{e]
N
[

—_
w
—_
[}

1880 s .................... ................... ................... ................... ............ e ....................

Area BM8: cU_PPM (ppm) (ppm)

2050

i
2060

i
2070

i I i i i
2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cU_PPM (ppm
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

=&
£ x
= 1920
=10
t 1
25
= 2 1910
585

1900

1890 ”m”mmmmm$m”mmmmmmj”m

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: cU_PPM (ppm
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

=&
£ x
= 1920
=10
t 1
25
= 2 1910
585

1900

1890 ”m”mmmmm$m”mmmmmmj”m

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: U_cps (cps (cps)

1960

1950

1940

1930
ES
oS 1920
£@
t 1
SE
= § 1910
58

1900

1820

1880

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: U_cps (cps (cps)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 50

1950 L oo EQHQJMLMﬂ;:m;m ...... L EPPTPII e 7T€MTTTMTT€ .................... é .................... é 45

40

1940 :: L é

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é . ﬂ?né

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: U_cps (cps (cps)
1960_ ................. s .................... ................... .................... R R 10

1950 oo é ................... ST S o é .................... é .................... é .................... é - -9
1940 __________

1930 é - .:.. e ._._ "' T P _'_' .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é .mt_h o e— .  .  -.___':'m~m€

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




1960

1950

1940

1930

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1820

1880

1870

Area BM8: U_cps (cps

i i i i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

(cps)
30

45

40

35

30



Area BM8: U_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: U_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: cK_PCT (%) (%)
1960_ ................. ................... .................... ................... .................... R R

1950 L oo : ...... . DT S . .................... ....................
1940 SRR

1930 ..........

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890

1880 L o ................... .................... ................... .................... .................... ...............

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cK_PCT (%) (%)
1960_ ................. ; ................... é .................... ; ................... é .................... R R ém”m”m”m?

1950 L oo EQHQJMLMﬂ;:m;m ...... - TP T 7fm;Tfmff”Té .................... é .................... é

1940 :: L é

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é i ﬂ?né

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cK_PCT (%) (%)
1960_ ................. ................... .................... R R

1950 ................. ...... ................... E e .................... .................... ...... | ........... i _35
1940 - B

o = 7L D

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- DR _.-.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ; ........... e ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cK_PCT (%) (%)
1960_ ................. ................... .................... R R

1950 oo é ................... ST S o é .................... é .................... é .................... é
1940 __________

1930 é - .:.. e ._._ "' - T _'_' .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- - THEERE _.-.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ; ........... e ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cK_PCT (%)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

Offset by -7670 km
@
L]

UTM Northing {(m)

1900

1820

1880

i i i | i | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130
UTM Easting (m)

Offset by -400 km

1870



Area BM8: cK_PCT (%)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: K_cps (cps (cps)
_ ; ; : 20

1960

1950

1940

1930

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1820

1880

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: K_cps (cps (cps)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 100

1950 L oo EQHQJMLMﬂ;:m;m ...... L RPN e 7T€MTTTMTT€ .................... é .................... é 90

80

1940 :: L é

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é . ﬂ?né

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: K_cps (cps (cps)
1960_ ................. s .................... ................... .................... R R 20

1950 oo é ................... ST S S é .................... é .................... é .................... é
1940 B B

1930 é O mmE Bl 0 e

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- . -.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



1960_ ................. s .................... ................... .................... R R 100

1950

1940

1930

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1820

1880 -

Area BM8: K_cps (cps (cps)

30

40

30

20

10

1870

i
2050 2060

i
2070

i I i i i
2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: K_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: K_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: cTh_PPM (ppm) (ppm)
1960 e s .................... ................... .................... R R 20

1950 L oo : ...... e e S . .................... ....................

1940 :: e é

1 930 ..........

- 12

—_—
[{e]
N
[

- =10

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é i . :ﬂQnmé

1880 L o ................... .................... ................... .................... .................... ...............

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cTh_PPM (ppm) (ppm)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 40

1950 ................. é ................... PR TR e e e TTM;TimTT”T;m  ” ifi ......... ; ........ é 35

1940 :: e é
: : 30

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cTh_PPM (ppm) (ppm)
1960 e s .................... ................... .................... R R 20

1950 oo é ................... ST S o é .................... é .................... é .................... é
1940 __________

1930 é - .:.. . ._._ "' DN é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- i ERw _.-.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cTh_PPM (ppm) (ppm)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 40

1950 ................. é ...... :    4. ................... e P é .................... é .................... é ...... :: ........... é 35

1940 ] DEEETE PR BN
: - ] o . - DN S A3

1930 é - .:.. . ._._ "' I _'_' .......... é

- 125

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mﬁ'*'-- . __..__ '.-.. __':z““mé

1880 L o é ................... é .................... é ................... é .................... é .................... ; ........... e ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: cTh_PPM (ppm
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | i | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130
UTM Easting (m)

Offset by -400 km

1870



Area BM8: cTh_PPM (ppm
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: Th_cps (cps) (cps)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 5

1950 b éQ”;”;;mj;;;;m. ...... R S f”Téf”Tfmffé .................... é .................... é 4.5

1940 :: L é

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é : ﬂ?né

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: Th_cps (cps) (cps)
1960_ ................. s é .................... ; ................... é .................... R R ém”m”m”m? 10

1950 L oo EQHQJMLMﬂ;:m;m ...... " TP e 7fm;Tfmff”Té .................... é .................... é

1940 :: L é

1930 é .......... é

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 é é . ﬂ?né

1880 L o é ................... é .................... é ................... é .................... é .................... ; ............... L;?;;?””mné

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: Th_cps (cps) (cps)
1960_ ................. s .................... ................... .................... R R 5

1950 Lo é ................... SR . S é .................... é .................... é .................... é
1940 " - K. .' R - - |
1930 __________

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- S Ry _.-.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: Th_cps (cps) (cps)
1960_ ................. s .................... ................... .................... R R 10

1950 Lo ................... L o T .................... .................... .................... - 9
1940 3 - B - KX .' " R S I
1930 __________

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

1900

1890 | é _mt'*'-- S Ry _.-.__ '.-._ __':Lnumé

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: Th_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | i | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130
UTM Easting (m)

Offset by -400 km

1870



Area BM8: Th_cps (cps)
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: TC_cps (cps) (cps)

1960 250

1950

200
1940

1930
. 150
55.
=9 1920
£18
t 1
o3
= 8 1910
20O 100

1900

1820

‘ k )

1880

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: TC_cps (cps) (cps)

1960 500
1950 450
400
1940
1350
1930
. {300
£ £
R 1920
'_E P
£N {250
o3
=B 1910
=5
20O {200
1900
150
1890
100
1880 5
i

1870 i i i I i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km




Area BM8: TC_cps (cps) (cps)
1960 s s .................... ................... .................... R R 250

1950 e é ................... ST S S é .................... é .................... é .................... é

1940 . - .

1930 é - .:.. e ._._ "' B _'_' .......... é

150

—_—
[{e]
N
[

UTM Northing {(m)
2
L]

Offset by -7670 km

100

1900

1890 | - o B
: : _ B g 50

1880 L o é ................... é .................... é ................... é .................... é .................... ém”m”ﬂ ........ ém”m”m”mé

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: TC_cps (cps) (cps)
1960 s s .................... ................... .................... R R 500

1950 b é ................... ST S SR é .................... é .................... é .................... é - —450

b 400
1940 o
CF 4350
1930 ; ; N Sl ey . ;

= =300

—_—
[{e]
N
[

250

UTM Northing {(m)
2
L]

Offset by -7670 km

200

1900
150

1890 | | BRI . ..
: I 1. W : 100

1880_ ................. ................... .................... ................... .................... .................... .................... 50

1870 i i i I i i i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km



Area BM8: TC_cps (cps
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area BM8: TC_cps (cps
1960 e ....................... e e ...................... ...................... ....................... e E

1950
1940

1930

—
[{e]
N
[

UTM Northing {(m)
@
L]

Offset by -7670 km

1900

1820

1880

i i i | I | i i
2050 2060 2070 2080 2090 2100 2110 2120 2130

UTM Easting (m)
Offset by -400 km

1870



Area Central?
2511m (4052m2) traversed @ 1.40 (km/hr)
3540 _ I I

3520

3500

3480

UTM Northing {(m)
Offset by -7670 km

3460

3440

| | | |
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020
UTM Easting (m)
Offset by -400 km

3420 i i



Area Central7: Galt_m (m)

3540_ ............... ................. ................. ................. ................. .................
333
3520
332
3500
£§ - 331
28
=~
£ L 3480
=
5
Z g
=4 - 330
3460
329
3440
328
| | | | | |

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: cU_PPM (ppm {(ppm)

3540_ ............... ................. ................. ................. ................. ................. 20
18
3520
16
14
3500
- 112
ES
28
= M
% . 3480 L 110
= e
=2
58
- 3
3460
6
4
3440
2
i i i i i i 0

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: cU_PPM (ppm

3540_ ............... ................. ................. ................. ................. .................
3520
- 170
3500
- 160
ES
28
= M
% . 3480 L 150
= e
=2
58
- 40
3460
30
20
3440
10
i i i i i i 0

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: cU_PPM (ppm

3540_ ............... ................. ................. ................. ................. .................

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

420
1930

1940

1950

1960

i i i
1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area Central7: cU_PPM (ppm {(ppm)
3540_ ............... ................. ................. ................. ................. .................
3520
3500
ES
28
= M
£ L 3480
=
= 3
58
3460
3440
420 | | | | | | | | |
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km

90

80

70

60

30

40

30

20

10



Area Central7: cU_PPM (ppm)
3540_ ................. R .................... ................... ................... e s

3520

3500

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460

3440

| | | |
1930 1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

3420 i i | i



Area Central7: cU_PPM (ppm)
3540__ ................. R é .................... ; ................... ; ................... e s Enm”m”m”ﬂ”m”m”mnﬁ

3520

3500 § | é ﬁ o - ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é . .W: % .......... é .................... é .................... é .................... é

3440 é é - - :H: ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3540

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: U_cps (cps) (cps)
............... 10

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: U_cps (cps) (cps)

3540_ ............... ................. ................. ................. ................. ................. 50
45
3520
40
L 135
3500
- 130
ES
28
= M
% . 3480 L 125
= e
=2
58
- 120
3460
15
10
3440
5
i i i i i i 0

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3540 P

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: U_cps (cps)

420
1930

i i i
1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

(cps)
10




3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: U_cps (cps)
3540_ ............... ................. ................. ................. ................. .................

420
1930

1940

1950

1960

i
1970 1980

UTM Easting (m)
Offset by -400 km

1980

i
2000

2010

i
2020

(cps)

30

45

40

35

30

25

20

15

10



Area Central7: U_cps (cps)
3540_ ................. R .................... ................... ................... e s

3520 § § § P g e ;

3500 § § § | ;; ,“f ; -~ S ;

UTM Northing (m)
Offset by -7670 km
[V ]

s
co
L]

3460 § * | " Tl S— S— S ?

3440 é i S ; .................... ;”m”m”m”g”m”m”m”@ ___________________ AE— ?

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: U_cps (cps)
3540_ ................. R .................... ................... ................... e s

3520

3500 § § § - | © EE— ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 : 4 : ‘ B .................... .................... ....................

3440 é é - -1 :H: ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3540

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

3420

Area Central7: cK_PCT (%) (%)

s ................. ................. ................. ................. ................. 4

3.5

0.5

i i i i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km




3540

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

420
1930

Area Central7: cK_PCT (%)

|
2010

|
1990

| | | | |
1940 1950 1960 1970 1980

UTM Easting (m)
Offset by -400 km

i i
2000 2020



3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: cK_PCT (%)
3540_ ............... ................. ................. ................. ................. .................

420
1930

1940

1950

1960

i
1970 1980

UTM Easting (m)
Offset by -400 km

1980

i
2000

2010

i
2020

25

1.5

0.5



Area Central7: cK_PCT (%)
3540_ ............... ................. ................. ................. ................. .................

3520
3500
EX
28
=~
£ L 3480
=
= 3
58
3460
3440
420 | | | | | | | | |
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km




3540 ................. R .................... ................... ................... e s

3520

3500 § § § : § S— ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é ¢ . - - — A T é .................... é .................... é .................... é

3440 é é L -1 :H: ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: cK_PCT (%)
3540_ ................. R .................... ................... ................... e s

3520

3500 § § § _. 5 | -E ___________________ ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 - : L. . .................... .................... ....................

3440 é é L -1 :H: ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: K_cps (cps) (cps)

3540_ ............... ................. ................. ................. ................. ................. 20
18
3520
16
14
3500
12
ES
28
= M
% . 3480 110
= e
=2
58
18
3460
6
4
3440
2
420 | | | | | | | | | 0
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: K_cps (cps) (cps)

3540_ ............... ................. ................. ................. ................. ................. 100
90
3520
80
- 170
3500
- 160
ES
28
= M
% . 3480 L 150
= e
=2
58
- 40
3460
30
20
3440
10
420 | | | | | | | | | 0
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

3420

Area Central7: K_cps (cps)
3540_ ............... ................. ................. ................. ................. .................

1930

1940

1950

1960

i i i
1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area Central7: K_cps (cps) (cps)

3540_ ............... ................. ................. ................. ................. ................. 100
- 190
3520
- 180
- 170
3500
- 160
ES
28
= M
% . 3480 50
= e
=2
58
40
3460
30
20
3440
10
420 | | | | | | | | | 0
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: K_cps (cps)
3540_ ................. R .................... ................... ................... e s

3520

3500

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460

3440

| | | |
1930 1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

3420 i i | i



Area Central7: K_cps (cps)
3540_ ................. R .................... ................... ................... e s

3520

3500

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460

3440

| | | |
1930 1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

3420 i i | i



3540_ ............... ................. ................. ................. ................. .................

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: cTh_PPM (ppm

3420
1930

i i
1940 1950 1960 1970 1980 1980 2000 2010

UTM Easting (m)
Offset by -400 km

i
2020

(ppm)

12

10



Area Central7: cTh_PPM (ppm

3540_ ............... ................. ................. ................. ................. .................
3520
3500
s
ES
28
= M
% . 3480 L 120
= e
=2
58
L 115
3460
10
3440
5
i i i i i i 0

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: cTh_PPM (ppm

3540_ ............... ................. ................. ................. ................. .................

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

420
1930

1940

1950

1960

i i i
1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area Central7: cTh_PPM (ppm {(ppm)
3540_ ............... ................. ................. ................. ................. ................. 40

- 35
3520
- 130
3500
L 125
ES
28
= M
% . 3480 20
Z‘Q
=2
58
15
3460
10
3440
5
i i i i i i 0

420 | | i
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3540 ................. R .................... ................... ................... e s

3520

3500 __ - ___________________

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é —— . " . é .................... é .................... é .................... é

3440 é é L - : : ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3540 ................. R .................... ................... ................... e s

3520

3500 § § § £, : -E ___________________ ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é _ : . . é .................... é .................... é .................... é

3440 é é - -1 :H: ..... . é .................... é”m”m”mnéum”m”mné ................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: Th_cps (cps)
3540_ ............... ................. ................. ................. .................. ................. ................. ..................

3420
1930

1940

1950

i
1960

i
1970 1980

UTM Easting (m)
Offset by -400 km

1980

i
2000

2010

i
2020

(cps)

4.5

3.5

25

1.5

0.5



3540 s

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: Th_cps (cps)

3420
1930

i i i i
1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

(cps)
10




3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: Th_cps (cps)
3540_ ............... ................. ................. ................. .................. ................. ................. ..................

3420
1930

1940

1950

i
1960

i
1970 1980

UTM Easting (m)
Offset by -400 km

1980

i
2000

2010

i
2020

(cps)

4.5

3.5

25

1.5

0.5



3540 s

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

Area Central7: Th_cps (cps)

3420
1930

i i i i
1940 1950 1960 1970 1980 1980 2000 2010 2020

UTM Easting (m)
Offset by -400 km

(cps)

10



Area Central7: Th_cps (cps)
3540_ ................. s ................... .................... s R ....................

3520

3500 § § - & i - - EE— ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 i o ;-:‘_'_._. . I ..:- .. .................... ....................

3440 é ; - - .5_ ..... L 3m”m”m”m;m”m”m”m€ .................... é .................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: Th_cps (cps)
3540_ ................. s ................... .................... s R ....................

3520

3500 § § § ¢ | -E ___________________ ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é . i “% - o A .”mnénm”m”mné .................... é .................... é

3440 é ; - -~ .5_ ..... L 3m”m”m”m;m”m”m”m€ .................... é .................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: TC_cps (cps) (cps)
3540_ ............... ................. ................. ................. .................. ................. ................. .................. 250

3520 e .................. ................. ................. ..... |
: : f f 200

3500 = .................. ................. ......

150

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]
|

= =100

3460 ..... . .

: i C D : : : : : 50
3440 ................. .......... : ................. .................. ................. ................. ..................

3420 | | | | | | | | |
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km




Area Central7: TC_cps (cps)

3540_ ............... ................. ................. ................. .................. ................. ................. ..................

3520

3500

UTM Northing {(m)
Offset by -7670 km
L@V )

s
co
L]

3460

3440

3420
1930

1940

1950

i
1970 1980

UTM Easting (m)
Offset by -400 km

i
1960 1980

i
2000

2010

i
2020

450

400

350

300

—1250

200

150

100

30



Area Central7: TC_cps (cps) (cps)

3540_ ............... ................. ................. ................. .................. ................. ................. .................. 250
3520
- 200
3500
150
EX
28
=~
£ L 3480
=
= 3
58
100
3460
50
3440
| | | | | 0

420 | | | |
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: TC_cps (cps) (cps)

3540_ ............... ................. ................. ................. .................. ................. ................. .................. 500
- 450
3520
- 400
- 350
3500
= 1300
ES
o
£¢
£ 7 3480 250
O
=
= 3
585
200
3460
150
100
3440
50
420 | | | | | | | | | 0
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: TC_cps (cps)
3540_ ................. s ................... .................... s R ....................

3520 § § § . .. sl T ;

3500 § § § o Ee— ;

UTM Northing (m)
Offset by -7670 km
[V ]

s
co
L]

3460 | .. SR S S— — ?

3440 é i 3”m”m”m”g”m”m”m”g ____________________ T— BE— ?

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area Central7: TC_cps (cps)
3540_ ................. s ................... .................... s R ....................

3520

3500 § § § o I— ;

UTM Northing {(m)
Offset by -7670 km
[V ]

s
co
L]

3460 é “‘ .”mnénm”m”mné .................... ; .................... é

3440 é ; - - .5_ ..... L 3m”m”m”m;m”m”m”m€ .................... é .................... é .................... é

3420 i i i i i i | i j
1930 1940 1950 1960 1970 1980 1990 2000 2010 2020

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail)

2851m (7921 m2) traversed @ 2.05 (km/hr)

4020 | |

4000

3980

3960

3940

UTM Northing {(m)
Offset by -7670 km

3920

3900

3880

3860 ' i
~120 -100 -80

| . .
-60 -40 -20 0 20
UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): Galt_m (m {m)
4020 o ....................... e ....................... ....................... e R E

3825

4000
3582

3980 351.5

- —351
3960

- —350.5

[#3)
[da]
=
o

= 350

UTM Northing {(m)
Offset by -7670 km

3920 - {3495

349
3900

348.5

3880
348

3860 : : o i !
-120 -100 -80 -60 -40 -20 0 20
UTM Easting (m)

Offset by -400 km



4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

Area CentralWest(Detail): cU_PPM (ppm)
4020 o ....................... e ....................... ....................... e ...................... :

3860
-120

I
-80

] I
-60 -40

UTM Easting (m)

Offset by -400 km

-20

18

16

14

12

10



Area CentralWest(Detail): cU_PPM (ppm) {(ppm)

4020_ ..................... ....................... e ....................... ....................... e ...................... f 100
90
4000
80
3980
L 170
3960
. - 180
ES
28
= M
% . 3940 L 150
= e
B
=
o) L 140
3920
30
3900
20
3880
'; 10
3860 i | o i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

Area CentralWest(Detail): cU_PPM (ppm)
4020 o ....................... e ....................... ....................... e R E

3860
-120

i
-100

I
-80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

-20 0 20

18

16

14

12

10



4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

Area CentralWest(Detail): cU_PPM (ppm)
4020 o ....................... e ....................... ....................... e ...................... :

3860
-120

I
-80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

-20

90

80

70

60

30

40

30

20

10



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860

Area CentralWest(Detail): U_cps (cps
4020 o ....................... e ....................... ....................... e ...................... E

-120

i
-100

I
-80

o I
-60 -40

UTM Easting (m)

Offset by -400 km

-20 0 20

(cps)

10



Area CentralWest(Detail): U_cps (cps (cps)

4020 e ....................... e ....................... ....................... e ...................... f 50
45
4000
40
3980
L 135
3960
. L 130
ES
28
= M
% . 3940 L 125
= e
B
=
O - {20
3920
15
3900
10
3880
5
3860 i I o i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): U_cps (cps (cps)
4020 o ....................... e ....................... ....................... e R E

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 i I i i i
-120 -100 -80 -60 -40 -20 0 20
UTM Easting (m)

Offset by -400 km




4020 e ....................... e ....................... ....................... e ...................... :

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860

Area CentralWest(Detail): U_cps (cps

-120

I
-80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

-20

0

(cps)

30

45

40

35

30

25

20

15

10



Area CentralWest(Detail): U_cps (cps)
4020 e e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): U_cps (cps)
4020 e e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

151010 | IR

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020_ ..................... ....................... e ....................... . ...................... :

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

Area CentralWest(Detail): cK_PCT (%)

3860
-120

I
-80

o I
-60 -40

UTM Easting (m)

Offset by -400 km

-20

3.5

125

-11.5

0.5



Area CentralWest(Detail): cK_PCT (%) (%)
4020 o R IR e R ....................... e ...................... E

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 : : o i !
-120 -100 -80 -60 -40 -20 0 20
UTM Easting (m)

Offset by -400 km




Area CentralWest(Detail): cK_PCT (%)
4020 o ....................... e ....................... ....................... e R E

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 :
-120 -100 -80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

-20 0 20

3.5

25

1.5

0.5



Area CentralWest(Detail): cK_PCT (%) (%)

4020_ ..................... ....................... e ....................... ....................... e ...................... f ?
4000
- -6
3980
- -5
3960
28
=~
£ L 3940
=
=3
5§ 3
3920
2
3900
3880 1
3860 i I i i | i | 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): cK_PCT (%)
4020 e .......................... e ......................... .......................... g

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

3900

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): cK_PCT (%)
4020 e .......................... e ......................... .......................... g

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): K_cps (cps (cps)

4020 e ....................... e ....................... ....................... e ...................... f 20
18
4000
16
3980
14
3960
. 12
ES
28
= M
% . 3940 ~10
= e
B
=
O SF:
3920
6
3900
4
3880
2
3860 i I o i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): K_cps (cps (cps)

4020_ ..................... ....................... e ....................... ....................... e ...................... f 100
90
4000
80
3980
L 170
3960
. - 180
ES
28
= M
% . 3940 L 150
= e
B
=
o) L 140
3920
30
3900
20
3880
10
3860 i I o i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): K_cps (cps (cps)
4020 o ....................... e ....................... ....................... e R E

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 i i ! i |
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km




Area CentralWest(Detail): K_cps (cps (cps)

4020 e ....................... e ....................... ....................... e ...................... f 100
- 190
4000
- 180
3980
L 170
3960
. L 60
ES
28
= M
% . 3940 50
= e
B
=
O 40
3920
30
3900
20
3880
10
3860 i I i i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): K_cps (cps)
4020 e e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): K_cps (cps)
4020 e e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 : : o i ' !
-120 -100 -80 -60 -40 -20 0 20
UTM Easting (m)

Offset by -400 km



(ppm)

4020 40
4000 35
3980 30
3960 L 125

ES

28

= M

% . 3940 L 120

= e

=92

58
3920 L 15
3900 10
3880 5
3860 i I o i | i I 0

-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



UTM Northing {(m)
Offset by -7670 km

3920 o

I ¥

3880 o ................. \ h

3860

Area CentralWest(Detail): cTh_PPM (ppm)
4020 o ....................... e ....................... ....................... e ...................... E

[#3)

[da]

=

o
T

3980 o ....................... ...................... ...........

3960_ ..................... ................

4000_ ..................... ...................... ...................... ...................... ......................

-120

I
-80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

-20 0 20

18

16

14

12

10



Area CentralWest(Detail): cTh_PPM (ppm) {(ppm)

4020 e ....................... e ....................... ....................... e ...................... f 40
4000 L 135
3980 L 130
3960 L 125

ES

28

= M

% . 3940 20

= e

=92

58
3920 15
3900 10
3880 5
3860 i I i i | i I 0

-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): cTh_PPM (ppm)
4020 e e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

3900

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): cTh_PPM (ppm)
4020 e e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

2900

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 : : o i ' !
-120 -100 -80 -60 -40 -20 0 20
UTM Easting (m)

Offset by -400 km



4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860

Area CentralWest(Detail): Th_cps (cps)
4020 o ....................... e ....................... ....................... e ...................... E

-120

i
-100

I
-80

o I
-60 -40

UTM Easting (m)

Offset by -400 km

-20 0 20

(cps)

10



4020

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860 i '
-120 -100 -80

i I
-60 -40
UTM Easting (m)
Offset by -400 km

(cps)

4.5

3.5

25

1.5

0.5



Area CentralWest(Detail): Th_cps (cps)

4020 e ....................... e ....................... ....................... e R f

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
|95 ]

[{a]

P
L]

3920

3900

3880

3860

-120

i i |
-80 -60 -40 -20 0 20
UTM Easting (m)
Offset by -400 km

(cps)

10



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960
EX
=
= M~
£ L 3940
=
= 3
58

3920

3900

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): TC_cps (cps) (cps)

4020 e ....................... e ....................... ....................... e ...................... f 250
4000
200
3980
3960
. L 1150
ES
28
= M
£ L 3940
= e
B
=
O - {100
3920
3900
50
3880
3860 i I o i | i I 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): TC_cps (cps) (cps)

4020 e ....................... e ....................... ....................... e ...................... f 500
450
4000
400
3980
- 350
3960
—_ - 300
ES
o
£l
5 :';‘ 3940 - 250
2a
o
=
© 200
3920
150
3900
100
3880
b 50
3860 i | i i i i i 0
-120 -100 -80 -60 -40 =20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): TC_cps (cps) (cps)

4020 e ....................... e ....................... ....................... e ...................... f 250
4000
L 1200
3980
3960
— ~ 150
ES
28
= M
£ L 3940
= e
B
=
O 100
3920
3900
50
3880
3860 i | i | | i | 0
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest(Detail): TC_cps (cps) (cps)

4020 e ....................... e ....................... ....................... e ...................... f 500
- {450
4000
- —400
3980
= 350
3960
—_ = 300
ES
o
£l
"6' :';‘ 3940 250
2a
kS
=
© 200
3920
150
3900
100
3880
50
3860 i I i i | i I 0
-120 -100 -80 -60 -40 =20 0 20

UTM Easting (m)
Offset by -400 km



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



4020_ ....................... e .......................... ......................... ......................... e

4000

3980

3960

UTM Northing {(m)
Offset by -7670 km
(95 ]

[{a]

I
o

3920

3900 =i

3880

3860 i i .'.i i i i
-120 -100 -80 -60 -40 -20 0 20

UTM Easting (m)
Offset by -400 km



Area CentralWest
5178m (249 7Om2) traversed @ 2.52 (km/hr)
4050 T T

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

3800 i ' | |
2200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050

352
4000 350
- 1348
£ § 3950
o
£
= ! L
g 3‘ 346
=2
58 3900
344
3850 342
340
3800 I | | i i
=200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050_ .............................. ............................... ............. e ...............................

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: cU_PPM (ppm)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

(ppm)

20

18

16

14

12

10



Area CentralWest: cU_PPM (ppm) {(ppm)

4050_ .............................. ............................... ............. .................. ............................... 100
a0
4000 80
= 70
£ § 3950 - 160
o
E 5 50
= ! -
Sa
= 2
g =
DO 3900 L d4a0
30
3850 20
10
3800 i i i i i 0
-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



Area CentralWest: cU_PPM (ppm) {(ppm)

4050_ .............................. ............................... ................................ ............................... 20

L 18

4000 L 116

L 114

£ § 3950 P12
o

Z 12 10
t 1
S&
B
=

> & 3900 8

6

3850 4

2

3800 i i i i i 0

-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



Area CentralWest: cU_PPM (ppm) {(ppm)

QOB v PSR e : 100

- 190

4000 - 180

- 170

£ § 3950 - 60
o

£5 50
t 1
S&
=8
=y

> 3S 3900 40

30

3850 20

10

3800 i i i i i 0

-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: cU_PPM (ppm)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: cU_PPM (ppm)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: U_cps (cps)
4050_ .............................. ............................... ............. e ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km




4050_ .............................. ............................... ............. e ............................... f

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: U_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

35

30

25

20

15

10



4050_ .............................. ............................... ................................ ...............................

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: U_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km




Area CentralWest: U_cps (cps) (cps)

4050_ .............................. ............................... ................................ ............................... 50

- 145

4000 - 140

- 135

EE 3950 = 130
28
=N

E=EN 25
Sa
= 2
=

DO 3900 20

15

3850 10

5

3800 i i i i i 0

-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050_ ................................. s ............... . .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: U_cps (cps)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



4050_ ................................. s ............... . .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: U_cps (cps)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: cK_PCT (%)
4050_ .............................. ............................... ............. e ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

(%)

3.5

12.5

1.5

0.5



Area CentralWest: cK_PCT (%) (%)
4050_ .............................. ............................... ............. e ...............................

4000

£ § 3950

o I
2%

t 1

Sa

=4 o
'—

58 3900

3850

3800 i i i ' :
-200 -150 -100 -50 0 50
UTM Easting (m)

Offset by -400 km




4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: cK_PCT (%)
4050_ .............................. ............................... ................................ ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

(%)

3.5

25

1.5

0.5



Area CentralWest: cK_PCT (%) (%)

4050_ .............................. ............................... ................................ ............................... ?
- -6
4000
- 5
£ § 3950 .
2 "]
£
t 1
5a
22 3
D O 3900
2
3850
1
3800 i i i i j 0
-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: cK_PCT (%)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4050 e .................................... e .................... .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: cK_PCT (%)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4050 _ .............

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: K_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

14

12

10



4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: K_cps (cps)
4050_ .............................. ............................... ............. e ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

70

60

30

40

30



Area CentralWest: K_cps (cps) (cps)

4050_ .............................. ............................... ................................ ............................... 20

L 18

4000 L 116

L 114

£ § 3950 P12
o

Z 12 10
t 1
S&
B
=

> & 3900 8

6

3850 4

2

3800 i i i i i 0

-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



Area CentralWest: K_cps (cps) (cps)

QOB v PSR e : 100

- 490

4000 - 180

- 470

£ § 3950 - 60
28
= M

€. 50
25
=9
=4

> S 3900 40

30

3850 20

10

3800 i i i i i 0
-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: K_cps (cps)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



4050_ ................................. s ............... . .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: K_cps (cps)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



Area CentralWest: cTh_PPM (ppm)

4050

4000

£ § 3950
=1

2%

t 1

Sa

=2

'—

58 3900

3850

3800 3 i i i :
-200 -150 -100 -50 0 50
UTM Easting (m)

Offset by -400 km




Area CentralWest: cTh_PPM (ppm) {(ppm)

4050 40
35
4000
30
P
Eg 3950
o
Z 12 20
= ! -
S3
=2
|_
58 3900
15
10
3850
5
3800 | i ‘ | i 0
2200 150 100 -50 0 50

UTM Easting (m)
Offset by -400 km



Area CentralWest: cTh_PPM (ppm) {(ppm)

4050 20
- 118
4000 - 116
- 14
£ & 3950 12
oo
£ 10
t 1
Sa
D
=R
20O 3900 8
6
3850 4
2
3800 i i i i j 0
-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: cTh_PPM (ppm)
4050_ .............................. ............................... ................................ ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

20

15

10



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: cTh_PPM (ppm)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
Lo

3850

Area CentralWest: cTh_PPM (ppm)

3800
-200

-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: Th_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

(cps)

4.5

3.5

25

1.5

0.5



4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: Th_cps (cps)
4050_ .............................. ............................... ............. e ...............................

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km




4050_ .............................. ............................... ................................ ...............................

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: Th_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

3.5

25

1.5

0.5



4050_ .............................. ............................... ................................ ...............................

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: Th_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km




4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: Th_cps (cps)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4050 e .................................... e .................... .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: Th_cps (cps)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



Area CentralWest: TC_cps (cps) (cps)

4050_ .............................. ............................... ............. e ............................... 250
4000 200

£ § 3950 - 190

o

£k

t 1

oy

=8

=¥

> S 3900 - 4100
3850 50
3800 i i i i i 0

2200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050_ .............................. ............................... ............. e ............................... f

4000

UTM Northing {(m)
|95 ]
[{a]
on
L]

Offset by -7670 km

oW
[{e]
Q
L]

3850

Area CentralWest: TC_cps (cps)

3800
-200

i
-150

i i
-100 -50
UTM Easting (m)
Offset by -400 km

350

300

250

200

150

100



Area CentralWest: TC_cps (cps) (cps)

4050_ .............................. ............................... ................................ ............................... 250
4000 - 1200

£ § 3950 I 190

o

£k

t 1

oy

=2

=¥

> S 3900 100
3850 50
3800 i i i i i 0

2200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



Area CentralWest: TC_cps (cps) (cps)

4050_ .............................. ............................... ................................ ............................... 500

- 450

4000 - 400

- 4350

£ § 3950 B 300
28
= M

€. 250
25
=9
=4

> S 3900 200

150

3850 100

50

3800 i i i i i 0
-200 -150 -100 -50 0 50

UTM Easting (m)
Offset by -400 km



4050 e .................................... e .................... .................................... .................................... f

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: TC_cps (cps)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



4050

4000

UTM Northing {(m)
[9)]
({a]
(4]
o

Offset by -7670 km

w
[{s]
Q
L]

3850

Area CentralWest: TC_cps (cps)

3800
-200

-150

-100 -50
UTM Easting (m)
Offset by -400 km



Area S8(Detail)

417m (1278m2) traversed @ 2.27 (km/hr)

2930

2920 —

2910

2900

2890

N
o]
o0
L]

UTM Northing {(m)
Offset by -7670 km

2870

2860

2850

2840

2830

1850

I
1860 1870

|
1880 1890
UTM Easting (m)

Offset by -400 km

1900

1910



Area S8(Detail). Galt_m (m) {m)

2930_ ........................ .......................... .......................... .......................... .......................... ..........................
330
2920
2910 329
2900
- {328
2890
ES
28
£¢ -
£ L 2880 321
=
= 3
58
2870
- 326
2860
325
2850
2840
324
2830 | | | | | |
1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail):
2930 e .......................... .......................... .......................... .......................... .......................... f

cU_PPM (ppm)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

18

16

14

12

10



2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail):
2930 e .......................... .......................... .......................... .......................... .......................... f

cU_PPM (ppm)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

90

80

70

60

30

40

30

20

10



2930

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830

Area S8(Detail). cU_PPM (ppm) {(ppm)
: 20

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail):
2930 e .......................... .......................... .......................... .......................... .......................... f

cU_PPM (ppm)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

90

80

70

60

30

40

30

20

10



Area S8(Detail). cU_PPM (ppm)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). cU_PPM (ppm)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



2930

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870 é ................ .: | K _ '_ E ........................... é .......................... é .......................... é L {4

2860
2850 ....................... .......................... .......................... .......................... 2

2840 o B .......................... ........................... .......................... 1

2830 i i i i i |
1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



2930 e .......................... R s .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830
1850

|
1860

i
1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

|
1910

45

40

35

30

25

20

15

10



2930 e .......................... R s .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830
1850

i
1870

|
1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km




2930 e .......................... R s .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830
1850

|
1860

i
1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

|
1910

45

40

35

30

25

20

15

10



Area S8(Detail). U_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). U_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail): cK_PCT (%) (%)
2930 e .......................... .......................... .......................... .......................... ..........................

2020 | .......................... .......................... .................... | T W
: : : . : 35

2910_ ......... .. =

2O00 s .......................... ........................ .................. ..........................

| e
2890 o T o * O R T

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

g
I
|
%]

D870 =i ................. | T .......................... .......................... ..........................

2860 o - e T S S S

o850 o I S S S |

0.5

2840 e -. . .......................... .......................... .......................... ..........................

2830 | | | | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km



Area S8(Detail): cK_PCT (%) (%)
2930 e .......................... .......................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830 | | | | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km




2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail
2930 e .......................... .......................... .......................... .......................... .......................... f

): cK_PCT (%)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

(%)

3.5

25

1.5

0.5



Area S8(Detail): cK_PCT (%) (%)
2930 e .......................... .......................... .......................... .......................... ..........................

2920

2910

2900

2890
EX
23
=~
£ L 2880
=
= 3
58

2870

2860

2850

2840

2830 | | | | | |
1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km




Area S8(Detail). cK_PCT (%)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). cK_PCT (%)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). K_cps (cps)
2930_ ....................... .......................... .......................... ..........................

o S— S— S— -

2910__m”m”m”m”€ .......................... ém”m”m”m”mué ......... _ _i. n .- _m”mé .......................... é

200 o é .......................... é ......................... o I .. I é .......................... é

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830 | | | | | |

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

18

16




2930_ ....................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail). K_cps (cps)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

90

80

70

60

30

40

30

20

10



2930 —

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850 —

2840

Area S8(Detail). K_cps (cps)

2830

1850 1860 1870 1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

18

16

14

12

10



2930_ ....................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail). K_cps (cps)

2830
1850

1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

1910

90

80

70

60

30

40

30

20

10



Area S8(Detail). K_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). K_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). cTh_PPM (ppm) (ppm)

2930 e ........................... R s .......................... .......................... 20
2920 18
2910 16
2900 - {14
2890 - {12

ES

28

=~

£ L 2880 — —10

=

=3

58
2870 - s
2860 6
2850 4
2840 2

1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



Area S8(Detail). cTh_PPM (ppm) (ppm)

2930 e ........................... R s .......................... .......................... 40
2920
35
2910
30
2900
~ {25
2890
ES
28
=~
£ L 2880 — 20
=
=3
58
2870
= 15
2860
10
2850
5
2840
1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail). cTh_PPM (ppm) (ppm)
2930 e ........................... R s .......................... ..........................

0
1850

|
1860

1870

|
1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

Area S8(Detail):

cTh_PPM (ppm)
2930 e ........................... R s .......................... ..........................

0
1850

|
1860

1870

1880

UTM Easting (m)
Offset by -400 km

1820

1900

|
1910

35

30

25

20

15

10



Area S8(Detail). cTh_PPM (ppm
2930_ ........................ ........................... ........................... ........................... ...........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km




Area S8(Detail). cTh_PPM (ppm
2930_ ........................ ........................... ........................... ........................... ...........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km




Area S8(Detail). Th_cps (cps)
2930 e .......................... .......................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830 | | | | | |

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

4.5

3.5

25

1.5

0.5



Area S8(Detail). Th_cps (cps)
2930 e .......................... .......................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830 | | | | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km




2930

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830

Area S8(Detail). Th_cps (cps)

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

25

1.5

0.5



2930

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830

Area S8(Detail). Th_cps (cps)

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km




Area S8(Detail). Th_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). Th_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). TC_cps (cps)
2930 e .......................... .......................... .......................... .......................... ..........................

2020 | .......................... .......................... .................... . i B e

20101 é .......................... é .......................... é _________ - T é __________________________ é
; ; ; - -FI- " 5 ; ;

2O00 s .......................... ........................ .................. ..........................

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

2830 | | | | |
1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km

200

— —150

= —100

30



Area S8(Detail). TC_cps (cps) (cps)

2930 o .......................... .......................... .......................... .......................... .......................... 500
2920 450
2910 400
2900 350
2890 — —300

ES

o~

£¢

T . 2880 — —1250

O

=

= 3

58
2870 200
2860 150
2850 100
2840 50
2830 | | | | | |

1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



Area S8(Detail). TC_cps (cps)
2930 e .......................... .......................... .......................... .......................... ..........................

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840 o BUTT .......................... .......................... .......................... ..........................

2830 | | | | |

1850 1860 1870 1880 1820 1900 1910

UTM Easting (m)
Offset by -400 km

200

150

100

30



Area S8(Detail). TC_cps (cps) (cps)

2930 o .......................... .......................... .......................... .......................... .......................... 500
2920 — —1450
2910 — —400
2900 — —1350
2890 = {300

ES

o~

£¢

T . 2880 250

O

=

= 3

58
2870 200
2860 150
2850 100
2840 50
2830 | | | | | |

1850 1860 1870 1880 1890 1900 1910

UTM Easting (m)
Offset by -400 km



Area S8(Detail). TC_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



Area S8(Detail). TC_cps (cps)
2930_ ........................ e ........................... ........................... pre s

2920

2910

2900

2890

UTM Northing {(m)
Offset by -7670 km
]
co
co
L]

2870

2860

2850

2840

| | | |
1850 1860 1870 1880 1890 1900 1910
UTM Easting (m)
Offset by -400 km

2830



UTM Northing {(m)
Offset by -7670 km

Area S8

19090m (52502m2) traversed @ 2.06 (km/hr)
3100 I T T T T

3050

3000

N
[{s]
Ch
L]

N
w
Q
L]

2850

2800

2750 i i i I i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km




Area S8 Galt_m (m) {m)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 336
334
3050
332
3000
- 1330
~E
E 2 2950
2% L 1328
£
t 1
S3
= 2 2900 - 326
=R
2850 324
322
2800
320
2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cU_PPM (ppm) (ppm)
: 20

31 00 e ....................... p e ...................... ....................... ....................... f
18
3050
16
3000 114
— E Shl 12
£ x
o8 2950
'_E P
£ 10
o3
= 2 2900
58 -8
2850 6
4
2800
2
2750 I I i i i I i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cU_PPM (ppm)

3100_ ..................... ....................... p f ...................... ....................... ....................... f

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

70

60

30

40

30

10



3100

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2730

Area S8: cU_PPM (ppm) (ppm)
: 20

i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area S8: cU_PPM (ppm) (ppm)

31 00 e ....................... p e ...................... ....................... ....................... f 1 00
- 490
3050
- 180
3000 170
— E [ | 60
£ x
g’% 2950
= M
= ! 50
Sa
= 2 2900
o0 40
2850 30
20
2800
10
2750 I i i i i I i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cU_PPM (ppm)
31 00 e e .......................... .......................... .......................... R e

3050

3000

UTM Northing {(m)
[y
(L]
o
O

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100

3050

3000

Offset by -7670 km
[y
(L]
o
O

UTM Northing {(m)

N
w
]
L]

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: U_cps (cps)

3100_ ..................... ....................... p e ...................... ....................... ....................... f

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050




Area S8: U_cps (cps) (cps)
: 50

31 00 e ....................... p e ...................... ....................... ....................... f
45
3050
40
3000 R
— E [~ Shl 30
£ x
o8 2950
'_E P
= L {25
o3
= 2 2900
58 L 120
2850 15
10
2800
5
2750 I I i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: U_cps (cps) (cps)

31 00 e ....................... p e ...................... ....................... ....................... f 10
- o
3050
- s
3000 -
— E [ _ 6
£ x
g’% 2950
'_E P
= ! 5
S3
= 2 2900
58 4
2850 3
2
2800
1
2750 I I i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: U_cps (cps)

3100_ ..................... ....................... p e ...................... ....................... ....................... f

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2730

1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

(cps)
30

25

20

15

10



3100_ ....................... e .......................... .......................... .......................... R e f

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

Area S8: U_cps (cps)

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950



3100

3050

3000

N
<]
Ch
e

Offset by -7670 km
[pe]
(1]
o
o

UTM Northing {(m)

2850

2800

i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cK_PCT (%) (%)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 4
3050 3.5
3
3000
2.5
£k
) 2950
£% 2
= ! |
Sa
= 3 2900
58
1.5
2850
1
2800
0.5
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100

3050

3000
~ &
£ x
=S 2950
£
t 1
S3
= 3 2900
58

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100_ ..................... ....................... ...................... ...................... ...................... ......................

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2750
1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

(%)

3.5

25

1.5

0.5



Area S8: cK_PCT (%) (%)

3100 e ....................... ...................... ...................... ...................... ...................... ?
3050 - -6
3000 - a5
=
£ x
< 2950 - 4
=9
t 1
S &
= 2 2900 3
20
2850 2
2800 1
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cK_PCT (%)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100_ ....................... ......................... pro ......................... e ......................... f

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

Area S8: cK_PCT (%)

2750
1700

i i
1850 1900
UTM Easting (m)
Offset by -400 km



3100_ ..................... ....................... ...................... ...................... ...................... ......................

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2750
1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

(cps)

20

18

16

14

12

10



3100

3050

3000

=
£ x
=S 2950
c
t 1
o3
= 3 2900
58

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100_ ..................... ....................... ...................... ...................... ...................... ......................

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2750
1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

(cps)

20

18

16

14

12

10



Area S8: K_cps (cps) (cps)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 100
- 90
3050
- {80
3000 I
— E [ _60
£ x
=S 2950
£ 50
t 1
S3
= 2 2900
o0 40
2850 30
20
2800
10
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: K_cps (cps)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: K_cps (cps)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: cTh_PPM (ppm)

3100_ ..................... ....................... p e ...................... ....................... ....................... f

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2730
1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

18

16

14




3100_ ..................... ....................... p e ...................... ....................... ....................... f

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

Area S8: cTh_PPM (ppm)

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km

i
1950

i
2000

i
2050

(ppm)
40

35

30

25

10



3100

3050

3000

N
[{s]
Ch
L]

UTM Northing {(m)
]
[{a]
L]
L]

Offset by -7670 km

2850

2800

2730

Area S8: cTh_PPM (ppm) (ppm)
20

i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km

18

16

14

12

10



Area S8: cTh_PPM (ppm) (ppm)
40

3100 e ....................... p e ...................... ....................... ....................... f
3050 RS
L 430
3000
. L 425
£ x
g‘% 2950
'_E P
eI 20
Sa
= 3 2900
58
15
2850
10
2800
5
2750 I I i i i I i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100_ ....................... e .......................... .......................... .......................... R e f

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

Area S8: cTh_PPM (ppm)

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km



Area S8: cTh_PPM (ppm)
31 00 e e .......................... .......................... .......................... R e

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100

3050

3000

=
£ x
=S 2950
c
t 1
o3
= 3 2900
58

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100

3050

3000

=
£ x
=S 2950
c
t 1
o3
= 3 2900
58

2850

2800

2750 i i i i i i i
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: Th_cps (cps) (cps)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 5
- 45
3050
- {4
3000 [
— E L _3
£ x
=S 2950
£ 25
t 1
) '
= 2 2900
o0 2
2850 1.5
1
2800
05
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: Th_cps (cps) (cps)

3100 ..................... ....................... ...................... ...................... ...................... ...................... 10
- o
3050
- s
3000 -
— E L _6
£ x
=S 2950
zQ ;
t 1
S3
= 2 2900
58 4
2850 3
2
2800
1
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: Th_cps (cps)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



3100_ ....................... ......................... pro ......................... e ......................... f

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

Area S8: Th_cps (cps)

2750
1700

i
1750

i
1800

i i
1850 1900
UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps) (cps)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 250
3050
200
3000
— B - 150
£ x
) 2950
£
t 1
Sa
= 2 2900
o0 = 100
2850
50
2800
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps) (cps)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 500
450
3050
400
3000 S
~ - {300
£ x
=S 2950
£ 250
= ! -
S3
= 2 2900
58 L {200
2850 150
100
2800
50
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps) (cps)

3050
- 200
3000
— B = 150
£ x
) 2950
£
t 1
Sa
= 2 2900
o0 100
2850
50
2800
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps) (cps)

3100_ ..................... ....................... ...................... ...................... ...................... ...................... 500
- {450
3050
- {400
3000 I P
~ L {300
£ x
=S 2950
£ 250
t 1
S3
= 2 2900
58 200
2850 150
100
2800
50
2750 i i i i i i i 0
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



Area S8: TC_cps (cps)
3100_ ....................... ......................... pro ......................... e ......................... E

3050

3000

UTM Northing {(m)
[y
[{a]
o
o

Offset by -7670 km

N
w
]
L]

2850

2800

2750 i i i i i i |
1700 1750 1800 1850 1900 1950 2000 2050

UTM Easting (m)
Offset by -400 km



